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APPARATUS

AVAILABLE DIAMETERS

g : MEDIAN : SCONCE
2
-~ DIAMETER 4 IN DEPTH: @ 11 OR 14 IN
= 10 CM DEPTH: @ 28 OR 36 CM
g | WEIGHT 10 LBS /5 KG /11 IN DIAMETER

: 15 LBS /7 KG / 14 IN DIAMETER
=
(O]
= PRICE FROM $2800 / 11 IN DIAMETER
= : FROM $3200 / 14 IN DIAMETER
= = FROM $3600 /16 IN DIAMETER
s | z FROM $4000 / 20 IN DIAMETER
= 2 INSTALLATION SUITABLE FOR INSTALLATION ON WALLS ONLY
v =
! | VOLTAGE 120-240
= UL/ CE
2 LAMPING 8W DIMMABLE LED
= | 800 LUMENS

: et 2500K

el 0 e DRIVER LIFE 50,000 HOURS
5
in DEPOSIT 50% UPON ORDER
= BALANCE DUE PRIOR TO SHIPPING
é LEAD TIME PLEASE REFER TO WEBSITE
o)
FINISHED AND ASSEMBLED BY HAND IN NY
: DOMESTIC AND IMPORTED COMPONENTS
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APPARATUS

AGED BRASS

MEDIAN : SCONCE

OIL-RUBBED BRONZE
METAL AGED BRASS [WAXED]

OIL-RUBBED BRONZE [WAXED]
BLACKENED BRASS [WAXED]
TARNISHED SILVER [LACQUERED] ADD 35%

BLACKENED BRASS

TARNISHED SILVER
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